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ì`mdgm{`H$ AÜ``Z 
BUSINESS STUDIES 

 

{ZYm©[aV g_` … 3 KÊQ>o ] [ A{YH$V_ A§H$ … 80 
Time allowed : 3 hours ]  [ Maximum marks : 80 

gm_mÝ` {ZX}e… 

(i) 1 A§H$ dmbo àíZm| Ho$ CÎma EH$ eãX go EH$ dmŠ` VH$ hm|Ÿ& 

(ii) 3 A§H$m| dmbo àíZm| Ho$ CÎma 50-75 eãXm| Ho$ hm|Ÿ& 

• H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| _w{ÐV n¥ð> 16 h¢Ÿ& 

• àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS> Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na {bI|Ÿ& 

• H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 25 àíZ h¢Ÿ& 

• H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI|Ÿ& 

• Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {_ZQ> H$m g_` {X`m J`m h¡Ÿ& àíZ-nÌ H$m {dVaU nydm©• _| 10.15 
~Oo {H$`m OmEJmŸ& 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ 
Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|JoŸ& 

• Please check that this question paper contains 16 printed pages. 

• Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate.  

• Please check that this question paper contains 25 questions. 

• Please write down the Serial Number of the question before attempting it. 

• 15 minutes time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 

question paper only and will not write any answer on the answer-book during this 

period. 

narjmWu H$moS> H$mo CÎma-nwpñVH$m Ho$ _wI-
n¥ð> na Adí` {bI|& 
Candidates must write the Code on 

the title page of the answer-book. 

Series ONS/1 

66/1/1 
amob> Z§. 
Roll No. 
 

Set 1 

H$moS> Z§. 
Code No. 
 

AglaSem Schools

ht
tp

://
sc

ho
ols

.a
gla

se
m

.co
m

/

http://schools.aglasem.com/
http://schools.aglasem.com/


66/1/1 2  

(iii) 4-5 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 150 eãXm| Ho$ hm|Ÿ& 

(iv) 6 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 200 eãXm| Ho$ hm|Ÿ& 

(v) EH$ àíZ Ho$ g^r ^mJ gmW-gmW hr hb H$s{OEŸ&  

General Instructions : 

(i) Answers to questions carrying 1 mark may be from one word to 

one sentence.  

(ii) Answers to questions carrying 3 marks may be from 50-75 words. 

(iii) Answers to questions carrying 4-5 marks may be about 150 

words. 

(iv) Answers to questions carrying 6 marks may be about 200 words. 

(v) Attempt all parts of a question together.  

1. "à~ÝY H$m_ H$admZo H$s à{H«$`m h¡Ÿ&' Bg H$WZ _| à ẁº$ "à{H«$`m' eãX Ho$ AW© H$m 

CëboI H$s{OEŸ& 1 

 ‘Management is the process of getting things done.’ State the meaning 

of the term ‘process’ used in this statement. 

2. A{YH$ma AÝVaU Ho$ EH$ VËd Ho$ ê$n _| "A{YH$ma' H$m AW© ~VmBEŸ& 1 

 Give the meaning of ‘authority’ as an element of delegation. 

3. Cg "g§JR>ZmË_H$ T>m§Mo' H$m Zm_ ~VmBE Omo _mZd-e{º$ Ho$ Cn`moJ H$s H$m ©̀Hw$ebVm H$mo 

~‹T>mdm XoVm h¡Ÿ& 1 

 Name the type of ‘organisational structure’ which promotes efficiency in 

utilisation of manpower. 

4. H$m`m©Ë_H$ \$moa_¡Z{en _| "Q>mobr Zm`H$' H$s ^y{_H$m H$m CëboI H$s{OEŸ& 1 

 State the role of ‘gang boss’ in functional foremanship. 
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5. {dÎmr`Z {ZU©`m| _| go {H$gr EH$ {ZU©` Ûmam {dÎmr` à~ÝY _| n[agån{Îm`m| H$m AmH$ma 

bm^àXVm Ed§ à{V`mo{JVm à^m{dV hmoVr h¡Ÿ& {ZU©` H$m Zm_ ~VmVo hþE BgH$m CëboI 

H$s{OEŸ& 1 

 The size of assets, the profitability and competitiveness are affected by 

one of the financial decisions. Name and state the decision. 

6. am{YH$m Ed§ dmZr Omo {H$ ẁdm \¡$eZ-{S>OmBZa h¢, Zo AnZr "\¡$eZoQ> àmBdoQ> {b{_Q>oS>' 

H$ånZr ñWm{nV H$aZo Ho$ {bE EH$ à{gÕ \¡$eZ {S>OmBZa ûm§¥Ibm go Zm¡H$ar N>mo‹S> XrŸ& 

CÝhmo§Zo {ZU©` {H$`m {H$ do {XZ _| EH$ ~wQ>rH$ MbmE§Jo VWm em_ H$mo amï´>r` \¡$eZ 

{S>OmBqZJ g§ñWmZ H$s àdoe narjm Ho$ {bE H$moqMJ H$jmAm| H$m Am`moOZ H$a|JoŸ& H$moqMJ 

goÝQ>a Ho$ {bE CÝhm|Zo nmg Ho$ ^dZ H$m àW_ Vb {H$amE na {b`mŸ& CZH$m _w»` IMm© 

CZHo$ {dÚm{W©`m| H$mo ZmoQ>²g H$s à{V{b{n`m± àXmZ H$aZo _| hmoVm WmŸ& `h nyU©ê$n go OmZVo 

hþE {H$ CZH$m ì`dgm` g§MmbZ H$m ñVa BVZm Zht h¡ {H$ do \$moQ>moH$m°nrAa H$s j_Vm H$m 

nyU© Cn`moJ H$a nmE§Jo, do \$moQ>moH$m°nr _erZ IarXZo Ho$ ~mao _| {dMma H$a aho WoŸ&   

 "\¡$eZoQ> àmBdoQ> {b{_Q>oS' Ho$ ^dZ Ho$ VhImZo _| àdrZ VWm a_oe "ZrAmo qàQ²>g àmBdoQ> 

{b{_Q>oS>' Ho$ Zm_ go AnZm qàqQ>J VWm ñQ>oeZar H$m ì`dgm` Mbm aho WoŸ& am{YH$m Zo 

àdrZ go gånH©$ {H$`m Am¡a `h àñVmd aIm {H$ AbJ-AbJ {d{Z`moJ {H$E {~Zm do 

XmoZm| {_bH$a EH$ \$moQ>moH$m°nr _erZ IarX| {OgH$m à`moJ XmoZm| Ho$ Ûmam {H$`m OmEJmŸ& 

àdrZ Bggo gh_V hmo J`mŸ& 

 "\¡$eZoQ> àmBdoQ> {b{_Q>oS>' H$s ñWm`r ny±Or Amdí`H$VmAm| H$mo à^m{dV H$aZo dmbo KQ>H$ 

H$mo nhMm{ZEŸ& 1 

 Radhika and Vani who are young fashion designers left their job with a 

famous fashion designer chain to set-up a company ‘Fashionate Pvt. 

Ltd.’ They decided to run a boutique during the day and coaching 

classes for entrance examination of National Institute of Fashion 

Designing in the evening. For the coaching centre they hired the first 

floor of a nearby building. Their major expense was money spent on 
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66/1/1 4  

photocopying of notes for their students. They thought of buying a 

photocopier knowing fully that their scale of operations was not 

sufficient to make full use of the photocopier. 

 In the basement of the building of ‘Fashionate Pvt. Ltd.’ Praveen and 

Ramesh were carrying on a printing and stationery business in the name 

of ‘Neo Prints Pvt. Ltd.’ Radhika approached Praveen with the proposal 

to buy a photocopier jointly which could be used by both of them 

without making separate investment, Praveen agreed to this. 

 Identify the factor affecting fixed capital requirements of ‘Fashionate 

Pvt. Ltd.’ 

7. {dnUZ Ho$ Cg H$m ©̀ H$m Zm_ ~VmBE Omo Cn^moº$mAm| H$mo \$_© Ho$ CËnmXm| H$s gyMZm XoZo go 

gå~pÝYV h¡Ÿ&  1 

 Name the marketing function which is concerned with informing the 

customers about the firm’s products. 

8. _ZwO Zo EH$ ñWmZr` XwH$mZXma go {Mßg H$m EH$ n¡Ho$Q> IarXm VWm nm`m {H$ CgHo$ bo~b 

na {XE JE Ad`d ñnï> ê$n go Zht n‹T>o Om gH$Vo WoŸ& CgZo BgH$s {eH$m`V H$ånZr _| 

H$sŸ& EH$ {b{IV j_m`mMZm ^oOVo hþE H$ånZr Zo `h CëboI {H$`m {H$ do `h {ZpíMV 

H$a|Jo {H$ ~mOma go {dÚ_mZ n¡Ho$Q>m| H$mo CR>m {b`m OmE VWm OëX hr gwnmR²>` bo~bm| Ho$ 

gmW ~mOma _| ZE n¡Ho$Q> CnbãY H$am {XE OmE±&  

 _ZwO Zo {Og Cn^moº$m A{YH$ma H$m à`moJ {H$`m CgH$m CëboI H$s{OEŸ& 1 

 Manuj bought a packet of chips from a local shopkeeper and found that 

the ingredients given on the label were not legible. He complained about 

it to the company. The company sent a written apology stating that they 

will make sure that existing packets are withdrawn from the market and 

new packets with legible labels are soon made available.  

 State the consumer right which Manuj exercised. 
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9. "{Z`moOZ' H$s {H$Ýht VrZ {deofVmAm| H$mo g_PmBEŸ&  3 

 Explain any three features of ‘Planning.’  

10. lr ew^oÝXw ~mog "{~H$_¡H$ EÝQ>aàmBOoO' Ho$ ñdm_r h¢ Am¡a {d{^Þ àH$ma Ho$ {~ñHw$Q> ~ZmZo 

H$m ì`dgm` H$a aho h¢Ÿ& g§JR>Z _| ~hþV hr AgÝVmof Wm Am¡a bú` àmßV Zht hmo nm aho 

WoŸ& CgZo AnZo nwÌ Zdb, {OgZo A^r-A^r AnZr E_.~r.E. nyar H$s h¡, go BgH$m 

H$maU Ty>±‹T>Zo Ho$ {bE H$hmŸ&  

 Zdb Zo nm`m {H$ CÚ_ _| g^r àH$ma Ho$ {ZU©` boZo Ho$ A{YH$ma CgHo$ {nVm Ho$ nmg WoŸ& 

CgHo$ {nVm AnZo H$_©Mm[a`m| _| {dídmg Zht aIVo WoŸ& BgHo$ n[aUm_ñdê$n {Z`moº$m Ed§ 

H$_©Mmar XmoZm| EH$-Xygao Ho$ g§Xoem| H$mo g_mZ ê$n _| Zht g_P nmVo WoŸ& BgHo$ H$maU 

H$_©Mmar Iwe Zht Wo VWm bú`m| H$s àm{á Zht hmo nm ahr WrŸ& 

(A) Eogr {H$Ýht Xmo gåàofU ~mYmAm| H$s nhMmZ H$s{OE {OZHo$ H$maU {~H$_¡H$ 

EÝQ>aàmBOoO AnZo bú`m| H$mo àmá Zht H$a nm ahr WrŸ& 

(~) Cnamoº$ (A) ^mJ _| nhMmZo JE àË òH$ ~mYm Ho$ àH$ma H$s EH$ Am¡a ~mYm H$m 

CëboI H$s{OE& 3 

 Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on 

the business of manufacturing various kinds of biscuits. There was a lot 

of discontentment in the organisation and the targets were not being met. 

He asked his son, Naval, who had recently completed his MBA, to find 

out the reason. 

 Naval found that all decision making of the enterprise were in the hands 

of his father. His father didn’t believe in his employees. As a result both 

the employer and the employees were not able to understand each others 

messages in the same sense. Thus, the employees were not happy and 

targets were not met. 

(a) Identify any two communication barriers because of which Bikmac 

Enterprises was not able to achieve its target. 

(b) State one more barrier each of the types identified in (a) above. 
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11. "goZmoa EÝQ>aàmBOoO {b{_Q>oS'> Ho$ {dnUZ AÜ`j- Amerf, Cn à~ÝYH$ - a_Z VWm 

_mZd g§gmYZ à~ÝYH$-Á`mo{V Zo H$ånZr N>mo‹S>Zo H$m {ZU©̀  {b`mŸ& 

 H$ånZr Ho$ _w»` H$m ©̀H$mar à~ÝYH$ Zo _mZd g§gmYZ à~§YH$ Á`mo{V H$mo ~wbm`m Am¡a 

Cggo AZwamoY {H$`m {H$ dh g§JR>Z N>mo‹S>Zo go nhbo Imbr nXm| H$mo ^ao§Ÿ& `h gy{MV H$aVo 

hþE Á`mo{V Zo gwPmd {X`m {H$ CgH$s AYrZñW Hw$_mar AbH$m n§{S>V ~hþV hr `mo½` Ed§ 

{dídgZr` h¡Ÿ& `{X nXmZwH«$_ _| Cgo D$na H$a {X`m OmE Vmo dh g^r Amdí`H$ H$m ©̀ H$a 

XoJrŸ& _w»` H$m ©̀H$mar à~ÝYH$ BgHo$ {bE gh_V hmo J òŸ& Hw$_mar AbH$m n§{S>V Zo "H$sW 

[aH$ê$Q>g©' go gånH©$ {H$`m {OÝhm|Zo "goZmoa EÝQ>aàmBOoO {b{_Q>oS'> Ho$ {bE {dnUZ AÜ`j 

Ho$ nX H$m {dkmnZ {X`mŸ& do H$ånZr Ho$ {bE EH$ Cn ẁº$ àË`mer H$s ^aVr _| g\$b hþEŸ&  

 a_Z Ho$ [aº$ nX H$mo H$m`m©b` _| CnbãY Aàm{W©V àmW©ZmnÌm| H$s Om±M-naI H$aHo$ ^a 

{X`m J`mŸ&  

(A) Cnamoº$ [aº$ nXm| H$mo ^aZo Ho$ {bE "goZmoa EÝQ>aàmBOoO {b{_Q>oS'> Ûmam à ẁº$ ^Vu Ho$ 

òmoVm| Ho$ Zm_ ~VmBEŸ& 

(~) Cnamoº$ nhMmZo JE ^Vu Ho$ àË òH$ òmoVm| Ho$ EH$-EH$ bm^ H$m CëboI ^r H$s{OEŸ&  3 

 Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti, 

the Human Resource Manager of ‘Senor Enterprises Ltd.’ decided to 

leave the company. 

 The Chief Executive Officer of the company called Jyoti the Human 

Resource Manager and requested her to fill up the vacancies before 

leaving the organisation. Informing that her subordinate Miss Alka 

Pandit was very competent and trustworthy, Jyoti suggested that if she 

could be moved up in the hierarchy, she would do the needful. The Chief 

Executive Officer agreed for the same. Miss Alka Pandit contacted 

‘Keith Recruiters’ who advertised for the post of marketing head for 

‘Senor Enterprises Ltd., They were able to recruit a suitable candidate 

for the company. 

 Raman’s vacancy was filled up by screening the database of unsolicited 

applications lying in the office.  

(a) Name the internal / external sources of recruitment used by ‘Senor 

Enterprises Ltd.’ to fill up the above stated vacancies. 

(b) Also state any one merit of each of the above identified source of 

recruitment. 
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12. lr g§O` Zoham "VaU ~¢H$' Ho$ Mo`a_¡Z WoŸ& ~¢H$ AÀN>m bm^ A{O©V H$a ahm WmŸ& 

A§eYmar ~hþV Iwe Wo Š`m|{H$ ~¢H$ {Z`{_V ê$n go bm^m§e H$m ^wJVmZ H$a ahm WmŸ& CZHo$ 

A§em| H$m ~mOma _yë` ^r {Z`{_V ê$n go ~‹T> ahm WmŸ& ~¢H$ "doZm ~¢H$' H$m A{YJ«hU 

H$aZo H$s KmofUm H$aZo dmbm Wm& g§O` Zoham OmZVo Wo {H$ Bg KmofUm go "VaU ~¢H$' Ho$ 

A§em| H$m _yë` ~‹T>oJmŸ& ~¢H$ H$m EH$ {hñgm hmoZo Ho$ ZmVo CÝh| ~¢H$ Ho$ A§e IarXZo H$m 

A{YH$ma Zht WmŸ& CÝhm|Zo AnZo EH$ YZr {_Ì gwYra H$mo ~wbm`m Am¡a Cgo AnZo ~¢H$ Ho$ 

A§em| _| 5 H$amo‹S> én ò {d{Z`mo{OV H$aZo Ho$ {bE H$hm, gmW hr Cgo ny±OrJV bm^ H$m ^r 

dm`Xm {H$`mŸ&  

 AmemZwê$n A§em| H$m _yë` 40% ~‹T> J`m Am¡a gwYra Ho$ A§em| H$m ~mOma _yë` ` 7 

H$amo‹S> hmo J`mŸ& Cgo 2 H$amo‹S> én ò H$m bm^ hþAmŸ& CgZo 1 H$amo‹S> én ò g§O` Zoham H$mo Xo 

{XE Am¡a 1 H$amo‹S> én ò ñd §̀ aI {bEŸ& ^maVr` à{V^y{V Ed§ {d{Z`_Z ~moS>© (go~r) Ûmam 

g§{bá Xbmbm| go nyN>VmN> Ed§ {Z`{_V Om±M Ho$ ~mX Bg A{Z`{_VVm H$m Iwbmgm hþAmŸ& 

go~r Zo g§O` Zoham na ^mar Ow_m©Zm bJm`mŸ&   

 Cnamoº$ AZwÀN>oX go n§{º$`m| H$mo CÕ¥>V H$aVo hþE go~r Ûmam {Zînm{XV {H$Ýht Xmo H$m`m] H$mo 

nhMm{ZE Ed§ CZH$m CëboI H$s{OEŸ& 3 

 Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.’ The bank was 

earning good profits. Shareholders were happy as the bank was paying 

regular dividends. The market price of their shares was also steadily 

rising. The bank was about to announce taking over of ‘Vena Bank.’  

Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise 

on this announcement. Being a part of the bank, he was not allowed to 

buy shares of the bank. He called one of his rich friends Sudhir and 

asked him to invest ` 5 crores in shares of his bank promising him the 

capital gains. 

 As expected the share prices went up by 40% and the market price of 

Sudhir’s shares was now ` 7 crores. He earned a profit of ` 2 crores. He 

gave ` 1 crore to Mr. Sanjay Nehra and kept ` 1 crore with himself. On 

regular inspection and by conducting enquiries of the brokers involved, 

Securities and Exchange Board of India (SEBI) was able to detect this 
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irregularity. The SEBI imposed a heavy penalty on  

Mr. Sanjay Nehra.  

 By quoting the lines from the above para identify and state any two 

functions that were performed by SEBI in the above case. 

13. Cn^moº$m g§ajU Ho$ {bE J¡a-gaH$mar g§JR>Zm| Ûmam gånÞ {H$E OmZo dmbo {H$Ýht VrZ 

H$m`m] H$m CëboI H$s{OEŸ& 3 

 State any three functions performed by non-governmental organisations 

for consumer protection. 

14. à~ÝY Ho$ _hÎd Ho$ {H$Ýht Mma {~ÝXwAm| H$mo g_PmBEŸ& 4 

 Explain any four points of importance of management. 

15. ~¢H$m| Ûmam hmb hr _| Kmo{fV G$Um| na ã`mO Xam| _| H$Q>m¡Vr go CËgm{hV hmoH$a A{_V, Omo 

{H$ àm¡J«o{gd {dÚmb` H$m {dkmZ H$m EH$ {dÚmWu h¡, Zo ñQ>oQ> ~¢H$ Am°\$ B§{S>`m go G$U 

{b`mŸ& {OgHo$ Ûmam dh Hy$‹S>o-H$Mao go CËnm{XV BªYZ H$m Cn`moJ H$aZo dmbr H$mam| na 

AZwg§YmZ H$aoJm Ed§ CZH$m {dH$mg H$aoJmŸ& CgZo EH$ Eogr hr H$ma H$m {dH$mg {H$`m VWm 

Bgo {ejm {ZXoemb` Ûmam Am`mo{OV {dkmZ _obo _| àX{e©V {H$`mŸ& Bg AZwg§YmZ Ho$ {bE 

Cgo àW_ nwañH$ma go gå_m{ZV {H$`m J`mŸ&  

 Cnamoº$ pñW{V _| M{M©V ì`mdgm{`H$ n`m©daU Ho$ Am`m_m| H$mo nhMm{ZE Ed§ g_PmBEŸ& 4 

 A recent rate cut in the interest on loans announced by the Banks 

encouraged Amit, a science student of Progressive School to take a loan 

from State Bank of India to experiment and develop cars to be powered 

by fuel produced from garbage. He developed such a car and exhibited it 

in the Science Fair organised by Directorate of Education. He was 

awarded first prize for his invention.  

 Identify and explain the dimensions of business environment discussed 

in the above case.  
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16. "ñQ>rbmo {b{_Q>oS>' Zo C‹S>rgm Ho$ EH$ {nN>‹S>o joÌ _|, Ohm± H$m ©̀ Ho$ ~hþV H$_ Adga 

CnbãY Wo, ñQ>rb {Z_m©U H$s EH$ \¡$ŠQ´>r ñWm{nV H$aZo H$m {ZU©` {b`mŸ& Cg joÌ Ho$ 

bmoJm| Zo "ñQ>rbmo {b{_Q>oS>>' Ho$ Bg à`mg H$m ñdmJV {H$`mŸ& \¡$ŠQ´>r _| bmoJm| H$mo H$m_ Ho$ 

{bE AmH${f©V H$aZo Ho$ {bE H$ånZr Zo `h ^r {ZU©` {b`m {H$ \¡$ŠQ´>r n[aga _| ñHy$b, 

AñnVmb, ~mOma BË`m{X O¡gr ~hþV gr gw{dYmE± ^r CnbãY H$amB© OmE±JrŸ&  

 "ñQ>rbmo {b{_Q>oS>' Zo AË`{YH$ bm^ A{O©V H$aZm àmaå^ H$a {X`mŸ& EH$ AÝ` à{V`moJr 

H$ånZr Zo AnZo CËnmXZ à~ÝYH$ "Agb_' H$mo "ñQ>rbmo {b{_Q>oS>' Ûmam A{O©V {H$E Om 

aho AË`{YH$ bm^ Ho$ H$maUm| H$m nVm bJmZo Ho$ {bE H$hmŸ&  

 Agb_ Zo nm`m {H$ XmoZm| hr H$ån{Z`m| _| g§JR>ZmË_H$ CÔoí`m| H$s àm{á Ho$ {bE {d{^Þ 

{H«$`mAm| Ho$ ~rM ì`dpñWV g_Ýd` h¡Ÿ& àË òH$ H$_©Mmar H$mo `h kmV h¡ {H$ H$m¡Z {H$gHo$ 

à{V CÎmaXm`r Ed§ Odm~Xoh h¡Ÿ& Ho$db A§Va BVZm h¡ {H$ CZHo$ g§JR>Z _| gåàofU gmonmZ 

ûm§¥Ibm Ho$ _mÜ`_ go hr hmoVm h¡Ÿ& O~{H$ "ñQ>rbmo {b{_Q>oS>>' gåàofU H$mo Amdí`H$VmZwgma 

g^r {XemAm| _| àdm{hV hmoZo H$s AZw_{V àXmZ H$aVr h¡, {Oggo gyMZmAm| H$m erK« 

àdmh hmoVm h¡ Am¡a àË ẁÎma ^r Vwa§V àmá hmo OmVm h¡Ÿ&  

(A) g§JR>Z Ho$ Cg àH$ma H$mo nhMm{ZE Omo gåàofU H$mo g^r {XemAm| _| àdm{hV H$aZo H$s 

"ñQ>rbmo {b{_Q>oS>' H$mo AZw_{V àXmZ H$aVm h¡Ÿ& 

(~) ^mJ (A) _| nhMmZo JE g§JR>Z Ho$ àH$ma Ho$ EH$ AÝ` bm^ H$m C„oI H$s{OEŸ& 

(g) Eogo Xmo _yë`m| H$m C„oI H$s{OE Omo "ñQ>rbmo {b{_Q>oS'> g_mO H$mo gåào{fV H$aZm 

MmhVr h¡Ÿ& 4 

 ‘Steelo Ltd.’ decided to set-up its steel manufacturing factory in the 

backward area of Orissa where very less job opportunities were 

available. People of that area welcomed this effort of ‘Steelo Ltd.’ To 

attract people to work in its factory it also decided to provide many other 

facilities like school, hospital, market etc. in the factory premises.  

 ‘Steelo Ltd.’ started earning huge profits. Another competing company 

asked its production manager ‘Aslam’ to investigate the reasons of 

earning huge profits by ‘Steelo Ltd.’ 
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66/1/1 10  

 Aslam found that in both the companies there was systematic co-

ordination among the various activities to achieve organisational goals. 

Every employee knew who was responsible and accountable to whom. 

The only difference was that in his organisation communication took 

place only through the scalar chain whereas ‘Steelo Ltd.’ was allowing 

flow of communication in all the directions as per the requirement which 

lead to faster spread of information as well as quick feedback. 

(a) Identify the type of organisation which permits ‘Steelo Ltd.’ the flow 

of communication in all the directions. 

(b) State another advantage of the type of organisation identified in (a) 

above. 

(c) State any two values which ‘Steelo Ltd.’ wanted to communicate to 

the society. 

17. "Aë\$m {b{_Q>oS>' Aj` D$Om© Ho$ joÌ _| H$m ©̀ H$a ahr WrŸ& ì`dgm` hoVw CZH$s Q>r_ d 

Q>r_ ZoVm AnZo J«mhH$m| H$mo àñVw{V XoZo Ho$ {bE {d{^Þ amÁ`m| H$s `mÌm H$aVo WoŸ& H$ånZr 

H$s Zr{V Ho$ AZwgma ZoVm hdmB© OhmO Ûmam `mÌm H$aVm Wm, O~{H$ CgH$s Q>r_ g‹S>H$/aob 

Ûmam `mÌm H$aVr WrŸ& Bg_| Z Ho$db A{YH$ g_` bJVm Wm A{nVw H$^r-H$^r Q>r_ H$s 

_{hbm gXñ`m| H$mo AHo$bo ^r `mÌm H$aZo Ho$ {bE _O~ya hmoZm n‹S>Vm WmŸ&  

 BgHo$ n[aUm_ñdê$n, AYrZñW g§JR>ZmË_H$ CÔoí`m| H$s àm{á Ho$ {bE Cg àH$ma go H$m ©̀ 

Zht H$a nmVo Wo O¡gm CZgo dm§{N>V WmŸ& H$ånZr Ho$ _w»` H$m ©̀H$mar A{YH$mar H$mo BgHo$ 

~mao _| nVm MbmŸ& CgZo Q>r_ ZoVm H$mo ~wbm`m, Bg {df` _| CgHo$ gmW MMm© H$s VWm 

H$ånZr H$s `mÌm Zr{V ~Xb XrŸ& `h {ZU©` {b`m J`m {H$ ^{dî` _| ZoVm g{hV g^r 

gXñ` EH$ gmW `mÌm H$a|Jo Am¡a `mÌm Ho$ g_` H$m gXwn`moJ AYrZñWm| Ho$ gmW J«mhH$m| 

H$mo Xr OmZo dmbr àñVw{V MMm© _| bJmE§Jo& BgH$m  gH$mamË_H$ à^md n‹S>m Am¡a Q>r_ Ho$ 

àË òH$ gXñ` Zo Q>r_ ZoVm Ûmam dm§{N>V VarHo$ go H$m ©̀ H$aZm àmaå^ H$a {X`mŸ&  

 _w»` H$m ©̀H$mar A{YH$mar Ûmam à ẁº$ à~ÝY Ho$ H$m ©̀ Ho$ VËd H$s {deofVmAm| H$m C„oI 

H$s{OEŸ& 4 
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 ‘Alfa Ltd.’ was dealing in renewable energy. To get the business, the 

team leader and his team used to travel to different states to give 

presentation to their clients. As per the policy of the company, the leader 

used to travel by air, whereas his team travelled by road / train. It was 

not only time consuming but also at time forced female team members 

to travel alone. 

 As a result, the subordinates were not acting in a desired manner to 

achieve organisational goals. The CEO came to know about it. He called 

the team leader, discussed the matter with him and decided to change the 

travel policy of the company. It was decided that all the members 

including the leader would travel together in future and would usefully 

utilise the travelling time in discussion with the subordinates about 

presentation to be given to the clients. This made a positive impact and 

every member of the team started acting in a manner as desired by the 

team leader.  

 State the features of the element of the function of management used by 

the CEO. 

18. EH$ H$ånZr "Ob ew{ÕH$aU §̀Ìm|' H$m {dnUZ H$a ahr Wr, Omo BgH$s JwUdÎmm Am¡a 

J«mhH$m| H$mo àXmZ H$s OmZo dmbr {dH«$` CnamÝV godmAm| Ho$ H$maU ~hþV à{gÕ WoŸ& H$ånZr 

~mOma _| EH$ AJ«Ur H$ånZr Wr Am¡a AË`{YH$ bm^ A{O©V H$a ahr WrŸ& AË`{YH$ 

bm^ Ho$ H$maU H$ånZr Zo {dH«$`-CnamÝV godmAm| na Ü`mZ XoZm ~§X H$a {X`mŸ& BgHo$ 

n[aUm_ñdê$n J«mhH$m| Ho$ gmW H$ånZr Ho$ g§~§Y Iam~ hmo JE VWm OZVm H$s ZOam| _| 

H$ånZr H$s N>{d Iam~ hmo JB©Ÿ& dV©_mZ Ì¡_m{gH$s Ho$ bm^ AË`{YH$ H$_ hmoZo na Cƒ 

à~ÝYZ BgHo$ ~mao _| {MpÝVV hþAmŸ& {díbofU na `h nVm Mbm {H$ {dH«$`monamÝV godmAm| 

H$mo Ü`mZ _| Zht aIZm BgH$m H$maU WmŸ& AV… H$ånZr Zo OZVm H$s ZOam| _| AnZr 

AZwHy$b N>{d H$mo g§a{jV H$aZo  Ed§ BgH$m gwYma H$aZo Ho$ {bE g^r g§^d Cnm` 

AnZmEŸ& BgHo$ n[aUm_ñdê$n g_mO H$s Ñ{ï> _| H$ånZr H$s »`m{V gwYa JB©Ÿ&  
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66/1/1 12  

(A) Cnamoº$ d{U©V pñW{V _| {dnUZH$Îmm© Ûmam H$ånZr H$s N>{d H$mo gwYmaZo Ho$ {bE à ẁº$ 

gåàofU Ho$ gmYZ H$m Zm_ ~VmVo hþE CgH$m C„oI H$s{OEŸ& 

(~) ^mJ (A) _| nhMmZo JE gmYZ H$s ^y{_H$m ^r g_PmBEŸ& 4 

 A company was marketing ‘water purifiers’ which were very popular 

due to their quality and after sales services provided to the customers. 

The company was a leading company in the market and earning huge 

profits. Because of huge profits the company ignored the after sales 

services. As a result its relations with the customers got spoiled and the 

image of the company was damaged in the public. Top management 

became concerned when the profits for the current quarter fell steeply. 

On analysis it was revealed that ignoring the after sales services was its 

reason. Therefore the company took all possible measures to protect and 

promote its favourable image in the eyes of the public. As a result the 

goodwill of the company improved in the society. 

(a) Name and state the communication tool used by the marketer in the 

above case to improve its image. 

(b) Also explain role of the tool as identified in part (a). 

19. eo`a ~mOma Ho$ {H$Ýht Mma H$m`m] H$m CëboI H$s{OEŸ& 4 

 State any four functions of ‘Stock Exchange.’ 

20. Xmo df© nyd© _Yw Zo ImÚ àm¡Úmo{JH$s _| AnZr {S>J«r nyar H$sŸ& CgZo Hw$N> g_` VH$ MQ>Zr, 

AMma d _waã~m ~ZmZo dmbr EH$ H$ånZr _| H$m_ {H$`mŸ& dh Bg H$ånZr _| Iwe Zht Wr 

Am¡a CgZo `h {ZU©` {b`m {H$ dh Bgr àH$ma H$s AnZr EH$ O¡{dH$ ImÚ àm¡Úmo{JH$s 

àH«$_U BH$mB© ñWm{nV H$aoJrŸ& CgZo CÔoí` Ed§ bú` {ZYm©[aV {H$E Am¡a CÝh| àmá H$aZo 

H$s H$m ©̀-`moOZmE± ~ZmBªŸ&  

 CgH$m EH$ CÔoí` àW_ df© _| {d{Z`mo{OV am{e na 10% bm^ A{O©V H$aZm WmŸ& `h 

{ZU©` {b`m J`m {H$ H$ƒm _mb O¡go \$b, gpãO`m±, _gmbo BË`m{X VrZ _hrZo H$s CYma 
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na Ho$db O¡{dH$ \$gb CJmZo dmbo {H$gmZm| go hr IarXo OmE§JoŸ& CgZo `h ^r {ZU©` 

{b`m {H$ ñd §̀ H$s XwH$mZm| Ho$ _mÜ`_ go CËnmXm| Ho$ {dnUZ Ho$ {bE g^r Amdí`H$ MaUm| 

H$m nmbZ {H$`m OmEJmŸ& CgZo CËnmXZ à~ÝYH$ Ho$ ê$n _| _mohZ H$mo {Z ẁº$ {H$`m {OgZo 

CËnmXZ {H«$`mAm| H$mo {Zînm{XV H$aZo Ho$ {ZYm©[aV VarH$m| H$m ^r {ZU©` {b`mŸ& _mohZ Zo 

df© ^a _| \¡$ŠQ´>r _| bJmE OmZo dmbo H$_©Mm[a`m| H$s g§»`m H$mo àX{e©V H$aZo dmbm {ddaU 

^r V¡`ma {H$`mŸ& AmZo dmbr Ì¡_m{gH$s Ho$ {bE _Yw Zo _mohZ H$mo joÌmZwgma {d{^Þ CËnmXm| 

Ho$ AnZo bú`m| Ho$ ~mao _| ^r gy{MV {H$`mŸ& CËnmXZ _oO na H$m ©̀ H$aVo g_` Q>monr, 

XñVmZo VWm Eà¡Z Z nhZZo na ` 100 à{V{XZ Ho$ Ow_m©Zo H$s KmofUm ^r H$s JB©Ÿ&  

 Cnamoº$ AZwÀN>oX go n§{º$`m| H$mo CÕ¥V H$aVo hþE Bg_| d{U©V {d{^Þ `moOZmAm| Ho$ àH$ma 

H$s nhMmZ H$s{OE VWm BÝh| g_PmBEŸ& 5 

 Two years ago Madhu completed her degree in food technology. She 

worked for sometime in a company manufacturing chutneys, pickles and 

murabbas. She was not happy in the company and decided to have her 

own organic food processing unit for the same. She set the objectives 

and the targets and formulated action plan to achieve the same.  

 One of her objective was to earn 10% profit on the amount invested in 

the first year. It was decided that raw materials like fruits, vegetables, 

spices etc. will be purchased on three months credit from farmers 

cultivating organic crops only. She also decided to follow the steps 

required for marketing of the products through her own outlets. She 

appointed Mohan as a Production Manager who decides the exact 

manner in which the production activities are to be carried out. Mohan 

also prepared a statement showing the number of workers that will be 

required in the factory throughout the year. Madhu informed Mohan 

about her sales target for different products, areawise for the 

forthcoming quarter. While working on the production table a penalty of 

` 100 per day for not wearing the caps, gloves and apron was 

announced.  

 Quoting lines from the above para identify and explain the different 

types of plans discussed.  
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21. AéU Jw‹S>Jm±d H$s EH$ ~hþamï´>r` H$ånZr _| H$m ©̀aV h¡Ÿ& {nNbo H$mµ\$s {XZm| go Cgo ~wIma 

WmŸ& O~ CgHo$ aº$ H$s Om±M H$s JB© Vmo nVm Mbm {H$ Cgo S>|Jy h¡ Am¡a CgHo$ ßboQ²>b¡Q> H$s 

{JZVr ^r ~hþV H$_ hmo JB© h¡Ÿ& AV… Cgo AñnVmb _| ^Vu H$adm`m J`m VWm S>mŠQ>am| Zo 

CgH$mo aº$ M‹T>mZo H$s gbmh XrŸ& CgHo$ EH$ gmWr Zo CgHo$ A{YH$mar "lr Zmam`U' H$mo 

BgH$s EH$ {b{IV gyMZm XrŸ& "lr Zmam`U' Zo Vwa§V hr g§JR>Z Ho$ g^r H$_©Mm[a`m| H$mo 

AéU Ho$ {bE aº$-XmZ H$aZo H$s àmW©Zm H$aVo hþE EH$ {b{IV gyMZm XrŸ& O~ _w»` 

à~ÝYH$ H$mo Bg {df` _| nVm Mbm Vmo CgZo H$ånZr n[aga Ho$ A§Xa Yy_«rH$aU VWm 

Amgnmg Ho$ joÌ H$s g\$mB© H$m AmXoe {X`mŸ&  

(A) Cnamoº$ AZwÀN>oX go CÕ¥V H$aVo hþE Am¡nMm[aH$ Ed§ AZm¡nMm[aH$ gåàofU go 

gå~pÝYV n§{º$`m| H$mo B§{JV H$s{OEŸ& 

(~) AZm¡nMm[aH$ gåàofU H$s {H$Ýht Xmo {deofVmAm| H$m CëboI H$s{OEŸ& 

(g) Cnamoº$ n[apñW{V _| g_mO H$mo gåào{fV {H$E OmZo dmbo {H$Ýht Xmo _yë`m| H$s nhMmZ 

H$s{OEŸ& 5 

 Arun is working in a multinational company in Gurgaon. He was 

running temperature for the last many days. When his blood was tested, 

he was found positive for dengue with a very low platelet count. 

Therefore, he was admitted in the hospital and a blood transfusion was 

advised by the doctors. One of his colleagues sent a text message about 

it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text 

message to the employees of the organisation requesting them to donate 

blood for Arun. When the General Manager came to know about it, he 

ordered for fumigation in the company premises and cleanliness of the 

surroundings.  

(a) From the above para quote lines that indicate formal and informal 

communication. 

(b) State any two features of informal communication. 

(c) Identify any two values that are being communicated to the society 

in the above case. 
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22. à~ÝY Ho$ {Z`ÝÌU H$m ©̀ Ho$ _hÎd na àH$me S>mbZo dmbo {H$Ýht nm±M {~ÝXwAm| H$mo 

g_PmBE& 5 

 Explain any five points which highlight the importance of controlling 

function of management. 

23. "à~ÝY Ho$ {gÕmÝVm|' Ho$ {H$Ýht Mma bjUm| H$mo g_PmBEŸ& 6 

 Explain any four characteristics of ‘principles of management.’ 

24. "dm`mo {b{_Q>oS>' EH$ Q>¡ŠgQ>mBb {Z_m©Ur H$ånZr h¡Ÿ& BgH$s A§e ny±Or ` 60 bmI h¡Ÿ& 

{nN>bo df© BgH$s à{V A§e Am` ` 0.50 WrŸ& {d{dYrH$aU Ho$ {bE H$ånZr H$mo ` 40 

bmI A{V[aŠV ny±Or H$s Amdí`H$Vm WrŸ& BgHo$ {bE H$ånZr Zo 10% G$UnÌ {ZJ©{_V 

H$aHo$ {dÎm EH${ÌV {H$`mŸ& Mmby df© _| H$ånZr Zo {d{Z`mo{OV ny±Or na ` 8 bmI bm^ 

A{O©V {H$`mŸ& BgZo 40% H$s Xa go H$a ŵJVmZ {H$`mŸ& 

(A) C„oI H$s{OE {H$ {d{dYrH$aU na A§eYm[a`mo§ H$mo à{V A§e Am` go bm^ hþAm 

AWdm hm{Z hþB©Ÿ& AnZr JUZmAm| H$mo ñnï> ê$n go Xem©BEŸ& 

(~) gmW hr BgHo$ ny±Or T>m§Mo Ho$ ^mJ Ho$ ê$n _| H$ånZr Ûmam G$UnÌm| Ho$ {ZJ©_Z Ho$ nj _| 

{H$Ýht VrZ H$maH$m| H$m C„oI ^r H$s{OEŸ& 6 

 ‘Viyo Ltd.’ is a company manufacturing textiles. It has a share capital of  

` 60 lakhs. The earning per share in the previous year was ` 0.50. For 

diversification, the company requires additional capital of ` 40 lakhs. 

The company raised funds by issuing 10% debentures for the same. 

During the current year the company earned profit of ` 8 lakhs on 

capital employed. It paid tax @ 40%.  

(a) State whether the shareholders gained or lost, in respect of earning 

per share on diversification. Show your calculations clearly. 

(b) Also, state any three factors that favour the issue of debentures by 

the company as part of its capital structure. 
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25. Am{e_m Zo ñWmZr` n§gmar H$s XwH$mZ go Q>_mQ>a gm°g H$s EH$ ~moVb IarXrŸ& ~moVb na Xr 

JB© gyMZm ñnï> Zht WrŸ& CgH$m Cn`moJ H$aHo$ dh ~r_ma hmo JB©Ÿ& Cn^moº$m g§ajU 

A{Y{Z`_ Ho$ AÝVJ©V CgZo {Obm \$moa_ _| EH$ `m{MH$m XO© H$s Am¡a Cgo amhV {_b 

JB©Ÿ& 

(A) Cnamoº$ pñW{V _| Cg _hÎdnyU© nhby H$mo nhMm{ZE {OgH$s {dnUZH$Îmm© Ûmam 

AdhobZm H$s JB© h¡& 

(~) Cnamoº$ (A) _| nhMmZo JE nhby Ho$ H$m`m] H$m g§jon _| dU©Z H$s{OEŸ& 6 

 Ashima purchased a bottle of tomato-sauce from the local grocery shop. 

The information provided on the bottle was not clear. She fell sick on 

consuming it. She filed a case in the District Forum under Consumer 

Protection Act and got the relief.  

(a) Identify the important aspect neglected by the marketer in the above 

case. 

(b) Explain briefly the functions of the aspect identified in (a) above. 
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